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Inverse Function Quiz Homework 6.3 Inverse Questions

When you see the word arccos it means the !
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Cone: 3D figure that has a circle base and a
vertex that is not in the same plane as the
base.
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Two and Three Dimensional Objects Cross section: Jrr;ﬂngle

Cross section: A 2D surface or shape made

) . . Sli llel to the base.
from a plane, cutting a 3D figure along an axis. ice parafietfo fhe base

Cross section: CirC\Q

Slice diagonally through the base.

Cross section: ?6\(«56[0\ Q

Slice diagonally, NOT through the base.

Cross section: @l ere_
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